Algebra 1 ECA Remediation
Quiz 3.3
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Solve each proportion.

1}

1) n+6 n
10 9
A) {4} B) {-2.6}
C) {-9} D) {54}
3) X JSr 2 _ X ; 2
A) {22} B) {-4}
C) {4.1} D) {-7.

Solve each equation for the indicated variable.

5) 5(6m +8n) =111, Solve forn

111 +30m

A) {n:T}
81m
B) {H=W}
111 —30m
C) {H=T}
40

D) {n ky

T 111 - 30m
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Made with Infinite Algebra 1.

2)

V+8 v
10 2
A) {2} B) {-2}
C) {-7.38} D) {-3}
2) X ; 7 _ X ; 2
A) {-9.7} B) {8.5}
C) {-74} D) {-2.9}

6) —85=5(2b —a), solve for b

-17+a
A) {b= 5 }

-17-a
B) {b= 5 }

-85+a
C) {b= 0 }
D) {b=-8a}



